S .
——— N e—
—_——— B, e —

==

]
L]

l
T

P ™ e, M e, oy,

it

Tl g L

[ M, T, T, MR e, T

b e e e — — ]

e Ty o e
" e & TS
O TR s G
S T Y & e

N
SR
iL .

w
&%
Il
b2
™

(B)

N~7 7 7
N

L &

N o
L\

RO L AT

55

o
o
B

Tty
SNy
- % Sy oo P
=% % e

D)

—— — e e —

— —— s . —— s — —

| ——— e e — e

®

————— — i —— ———

———— — e e —

[ T FF 757
BEESTYEE
| Pl rre g )
o T R 2.8 .4 1
| [ ..I.‘"I" = Pl i 1
|+ 7t )
| # /£ 0 )
L2k % b
FETFLFF T
PP 4 V3 S SF A
LSS
{r!#ﬁ;#‘*ﬁwfi.i?;r?j-
NP S
Pl i i S S
Pl A A
d
5 D
dx -2x
6. Q:cosx
dx



19.

. s . a : .
The calculator drawn slope field for the differential equation Ey = xy is shown

the figure below. The solution curve passing through the point (0, 1) is also shown.
(a) Sketch the solution curve through the point (0, 2).
(b) Sketch the solution curve through the point (0, ~1).
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20.

The calculator drawn slope field for the differential equation ii—‘; =x+y is shownin

the figure below.
(a) Sketch the solution curve through the point (0, 1).
(b) Sketch the solution curve through the point (-3, 0).
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